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Geom, Review Problems
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a} Line containing AL and 2= AR, RA, A-D) )A) éz-’ Q

b) L ABC =

C'} L2 s L4 ""—‘ [:m:tet 5); s fechn}caij I.nforrectj

A) horiz. ray w/ endpt. C =
e) LBAD ?f'a,s drawn

1_2 ~ @ as drawn

LABC = aS drawn

f)  2Fce = 2pcE ((not different)

o) L H appears a (but cannot be assumed)
L) L6 appears Gtus) (0
c) LGFE eppess LR S
A) LDEF IS Elraight (#hit is fhe only one Hat ok 2 ‘,,Me@

e,) L”DF a)o,p-eatrs @(&u} canrot be 45;umed)

. o) 43" 15"17"
' + 26°49718"

= = ’ 7
180 oi’38" = (6770435

L\} 900 00'00 Y 279 50/ 00 < Sqo 5-? 160 2
— 29°00717" -39°00’ /7 —37°007177
. 39%007 /77 T 2D

. a) 4£8 = #6‘*? =%°f¢—;—(60')_: %o+lt§£)_/= #(94-5221’-_-




Y 132°00"= 132°+ 5= 132°4},
5 A

a) Given: p/EFG>90
mEHTK = 90

We know mi2 =770 é}, insp.

] &

However) mé! must be >70 in order to

make LEFG pbtuse,

ﬂu; \Lf L2 i
6) Given: LEFG = LHJTK
S;htf )MZEFG =
LI+ 20 =,/2 +20

mll =ml2

.
. =

A (2x45) (™ p

Givent LA = LB

2945 = 50-—4x

és{ = 45
_ 45
%-—2--7.5 @
mlAE 2% +5=2(15)+ 5'=.

Check: mlB=50-¥x -:-50-‘{-(7,5}._.. 20

& '\/Z
o

< s 3 >

ml}fle* mdl3 = [80

¥ + 2 * 2Zx =180

Ly = 180

=30

v iz x°=(39°) )ZZ=3’xD/

13 =2¢x°"=

mLHIK, Subst, jives

e



v V//lad
,9,3
Assame (éwoc} that mLINOR= mlFos =90,
7# LNOR=90°, LI must be 307
But iF LPOS =905 L) must be 22°. (—-r(—)
Conclusion : LNOR and LPOS cannot
bott: be rt. £S.
/D' Giuen: p:a;,
H
Praves LEFE B INTK ~ &—a———0"0"
E F ¢ ul
K
\. Diag, G
2. LEFG Vs i{raﬁ?\*\- 2. 'Dia,J,
3, ZHIK " 4 3, Disg-
L, LEFG = LHIK o Al S‘T(O\"ﬂ” L% are & .

|

. Given: LABC=]307

LAgp= 60° P »
Praves, LBBE B acute 6o’
B c
|. £ ABC = 130° i G

l,

2., LABR= £o -

3. L DPBC = 70 3, y4 subtractioa
b, LDBC is acute i, Def. acute
I

12, Grven LX is & .l

Y isart L Y
Prove - Iy =LY
[, 4% is rt.
2. LN 46 EX5 i, &
3, X E LY 2y
i 3. All rt.ls are "

i
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AB = Bc . &

V.
[ 2. B is the bis. pt. of A 2. Defl bis. (2 2 5235)]
2

B is the mdpt, of Al 3. Def. md pt,

I
[Naz’? Step Z is gapv‘/oma/ n the Iproof aéovc

-_—
Y. Given: DF, DG tris, LEDH
Prove: LEDF % LFDG £ LDGH

G

—_— [
|, DF, D& +ris. LEDH ’
Def, +ris.

2., LEDPF = LFD6% LDGH

(0

o 8
. Ciew: Tw bis. LVTX
Frove : LVYTWE LyxTW X'
\V W

I, Tw Lis, ZVTX \,_ c
2, LVTW Z LXTW 5. Def. bis.

Gilven L= £4LE°

' £2=¢6)%" i 2
Prc"’€; Z—f g LZ i

g proofs Sinel2 is 41° plus % of another degree, and

Since 2 of a degree is % or b of &

d.fjree) mld2 =616, See that mafches
fné’; the an_)h’s are conjruen{-.

A B (o D fo P
&< -—e— - E— G;ven- Cis n‘d/"
’ R of BD

-8
) Since BP=2-(-8)=/0, -5 Add 5 4o
coord. of B (or subtract 5',;;,0’“ coord. ,,fp/ ‘o 581', C at

<)
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!a) IFf AD= /S, D is /5 units 1’?: Yhe
right of A 5} npe, A is at @

A &
l i NB= AB:@

/9, m midpoiriss Ry T
hon-mdpts.t &, 5, P
G»IJ f(mdf = P(Ror‘f) @

Yy P2 M,,fs) = P(§R,TY) = /L) since there are

{0 wa-/_s to select points o= I r\’jafd fo

rder ; F 7 SP
orde QR)QS/Qf)QP) RS RT, R ST SF TP,

: A
26, Given: OR, DS tris. LTop A
LToP= #0.2° 0<——
i) Saia

TS F
W LPOR = (2= S(po7r 2y
= 4(#0°) + 75" = 3(31 +6o)+r§(é‘0)

= 13°+ 2074 47 =
. . by insp. Since 2 of 360°
Lre). o
’< Lo

#(5)</20° |
|20°+ 26° = at 11220

120% 7.5°=
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ZZ T- {’L\ ti ; ‘ |
\C e time 15 Z«OQ €n l\e /— ormed 5] clock hands s
th t 1 5 acute

|

CONVERSE . If the £ formed
INVERSE ¢ T tle + d by clock hands is acute, thex the time is 2:00
e Hme is pot 2:00 thew the clock hards’ £ i t .@Fﬂcsg
CONTRAFOSYTIVE oot e
Ff the clock hands’ [ is not acute £ ;
- . 7, then the time s not 2,'.00.

ZZM 2'5‘ Given: . =
7 . n: perim. = 1D+ 5 RS

2 . R =2¢
Find; RS

RS=TF

PR=T7.S =726

perim= R+ RS+ST+TP = Jot 5RS
2L + RS 26+ RS =/0+5 RS

5EQ 4+ 2RSS = /0+ TRS

#2=3PRS
Rs= %=

Check:  periw. = |4+ |y + 2+ 2L = 80

/st 5RS= Jo+ 5(14) = EO v
)4, Given pl DEG = X + 3

mLGEF = Qx4

m LDEF = 90 /

3 (+3 )+ (2¢ty) =

3>e+ ‘ty = 90
Lf , = 70’3)6
L —705
A
1)) TF [DEG & LGEF, then X+30r¢ =2x+y,
2;». =
2 -‘—"—2/
-3 _ = 2
v 2.

Cross-mult, to 9€t Yx =2 (7013,()
oy =8D-6X
jox =180
(,f/..}%’\

%.,g: —(7 Chock im{PEG = X34 7 /3*3("/""5:}/
ml GEF = 2xs'y =AY T=



25 V;‘_ -X-‘ ____:r Glven ¢ WY:Zs’
WX: XY =3:2

Ba 2a_

Ba 2a = 25
5;;_:'25
x=9

WX = 31:@

2L, ;éf A= m LA

b =mlB
Giver: a = L+ 2}
atdh = 42
Subtract to get —-—Z, - =36+24
—3b=-36

:/2

b
a= b+ 2b=672(12)= @

Check : a.“a = 30412 =42 /
ts “a" 6 more than 2} ?

L more than 2L= €+ 2(:2/
= 20
a =30 /

27, Given: LABC is rt.

F
/pBC=20° o g3
LFEC=H0 o :
- 30° E
LGEH =30 6 c H

Prove’ [LABD = LFEH

- . G

9. LABC= a0 2. Defe rt. L

3. LDBC= 20 5., i

4 LABD* 70‘ 4. L subtraction (2,3
5 LFEGTY 5. G

L. LGEWZ 30 £, G

1, JFEH=T0 9 L addition (5,5)
g, LABDZ LFEH | 8. pef. 2 (4,7

IR
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P&
2%, Given: LOMK=50° o)
LOKM:= (Zx)o :31.45)0
loKJ:(.S'fo’)b H_( A 9
J K M N

2.

Prove :  LOKT = Lomn

9 Frooff Since LoMK=50° and LKMN is
straight , ZOMN = 130°,  Since
LIKM is straight, S5x45+2x =180,
From which we obtain v = |75, or
x=26. Thus LOKT = (5x45)° =

(5—(25)-!"5')0"' f30n) whith matches ZOMN. ﬂ

-

£/ éo"z?’rzo"?o’u”=feo°oa’oo”
Li+ 130°£4771¢7 = 179°60°00”
L] +131°097167 = )79°52760"

179 °59760”
— 131°09716”

‘fﬂ”"’"’f’ "N=LI

At 3:39, hour hand is 36% of
Hhe woy from 3 to 4, At

Y15, the hour hand will have
. 25

covered the rew\a}n'wj D > plus
15 .
= of the mext hour, Since
2
25 Lo 4o . = the fotal travel is 3 of
o 6o (4] ) s
an hour, and cach hourl represents 30° as we

. : e
well  Know . Final answer: _3..(305')_: .

Q12x + 2467x = /g O

Fi2x 2469x)
= (80
B & 3231—"‘ 180 [_Ca.icula-‘tof
190 ) %ﬁl not allowe ahlcl
) ° a—— ’ % : w wou
) et ls] D) |
L\) Since .5‘!"73?“:: .5‘2‘737 (60") =~ 32'91/.3‘/::33; answer for (4)

)

’ simply describe how 'hf
multiply the fractional part by 60 4o Sefmmu{cs:.]
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P / a R
(=)
-6 1% 20 24
= " m peoint
‘Z;t % random PN CF random Pt.Z

= coordinate o

el /0

P(1t<z226 and ZeR)= 5z
.-!-?-"""" = _}__o__

24— (-¢) EL

33. i i”—
-8

Extreme case #1 (Z_Q very, very small):
slightly >, since PR=T o”y if &BQ are collinear

-_—
P

P a
s
R 19

exireme case ¥2 (LQ very,

J5“‘3;&] Z3ly since f'Kr

R )q & 2

uer)//a.rje):
=31 only if R,&,F

are cellinear

-B—J’) bis. LABC
mlABL= 25

Find: X and ?,
4—(37,-;:)—:25'3 and \Zx-";,=3;-x
/ ’

"\ —

Given:

\___..___ﬁ,_k{_ R
x+2y =25 =Y
x=25-2% \_,/'3(25'2})5%7
'75"6} =‘f‘7,
y T 756 = [0
x=25-2(75) /
K= 25 -15 S~ @
F=1 D

Check: mLABD =2x-4= 2(10)-75 = /2.5 /
mLDBC=3y-x= 3(75)-/0=125
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35. \
2)’-"28)0 G-f'v’en,' L’.& /s obfuse

Q

G [Q>70 and  ml& 233

2)
é) 90 < 2x -28& < |80
Ng < 2¢ < 208

/gﬁ_@
3¢. (*1_7_“) Given: LR is rt.

R
x¥- 2% = 90

Xr - 27¢x-90 =©
(x +3)(x—30)=0

X=-3 or x=30
Cheek: If x==3, x*-2k= (-3)*-21(-3)= ge81=70 "

ot 4= 30, ¥4-27x = 4 (u-2) = 30(2027)= 7°
We must keep both roots. Answer: (x= -3 or X =30

27 e
‘ j Y Given - Fen‘m.':z,@f' 2w = 20
E:w b L <4

5} the first 3iven, 2w = 20-24.
Since Zﬂ is a aunber less than
We have Zw= fo-3 0% |2

2w 712
w>é

g, 20-24 712 .

However, there is wered. If w were [0, we would

longer have & r?c‘fd-"jfc since 2w

Therefore @

no weould make

the full pen'w\e*er.
Giuen; LASC is rt.

38'
LDBE is rt.
Prove. LABD £ LCBE
AP proof: .{@1" ml PBC=x as showh. By £ subtrackion,
ml ABD = 90-x , and ml CBE = 70-X . Since

| mlABD = m/LCBE, LABD ¥ [CBE.
329, E

Bj placing C and D on the Same s;de osF A<_5,) we

\

could have LAEC # L DEB. [bﬁer safuhhnsfojsié?e.]



